
	
Land	To	House	LLC	

	
Note-	These	parts	are	for	the	base	of	a	1-1/4”	pump.	To	build	another	size	pump	
modify	the	component	size	respectively.	(You	will	still	need	a	pressure	tank)	
	
Parts	List:	
	

	
	
1.	 Six	1-1/4”	Pipe	Nipple	
2.	 Two	3/4”	Pipe	Nipple	
3.	 One	1-1/4”	threaded	Ball	Valve	
4.	 One	1-1/4”	Threaded	Union	
5.	 Two	1-1/4”	Threaded	Tee	
6.	 One	Threaded	1-1/4”	Spring	Check	Valve	
7.	 One	Threaded	1-1/4”	to	3/4”	Threaded	Bushing	
8.	 One	3/4”	Union	
9.	 One	3/4”	Threaded	Ball	Valve	
10.	 One	1-1/4”	Threaded	Brass	Swing	Check	Valve	
	
	
	

www.landtohouse.com	


